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Anne Bronté’s Birthday (17 January)

1. 54x76= 4,104 B

3,648 x22 = 80,256 R
3. Cansofdrinks are packed in trays of 6. There are 5,623 cans.

How many trays are needed? 938 o
4. Cansofdrinks are packed in trays of 6. There are 5,623 cans.

Once packed, how many trays will be full? 937 N
5. 3,752+7= 536 T
6 836x17= 14,212 E
7. 2,484x4= 9,936 S
8. 5560+8= 695 A
9 56x39= 2,184 U
10. 1,824x44= 80,256 R
11. 78x28= 2,184 U
12, 1,242x8= 9,936 S
13. 418x34= 14,212 E
14. 621x16= 9,936 S

What kind of dinosaurs write romance novels?

Bronté-sauruses.
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